1 The Khilafat movement was led by -
(A)  Bal Gangadhar Tilak and Vipin Chandra Pal (B)  Maharaja Hari Singh and Shaukat Ali
(C)  Mahatma Gandhi and Khan Abdul Gaffar Khan (D)  Mohammad Ali and Shaukat Ali

(E)  Question not attempted

faenwa atirer w1 Aged fores g foman e

(A) It R foeres ik faftm == arer (B) et &ft fifg 3 o et
(C)  weTeHT et 3 W Fegel THRR @M (D) ez 37l St it el
(B) gai@wy

2 The famous speech addressed by the first Prime Minister of India Jawaharlal Nehru at the hour of midinght on 14-15
August 1947, is known as: (Choose the most appropriate option from below)
(A)  Tryst with Destiny . (B) Hope for the better future
(C)  Wings of Challenges (D) Independent India
(E)  Question not attempted
TG 35 T eI T ST et e SR O 1947 3 14-15 S Y weahy s g g sfirg siwor R o A 6 S

ST &7 (Fr 8§ & wed 3w forened )
(A) T faesfEh (B) T HRE SR
(€) o it S () sFerzfem
(E) aiaud . : '
3 In the fourth phase of integration of Rajasthan, which four princely states merged into Greater Rajasthan?

(A) Alwar, Bharatpur, Dholpur, Karauli

(B) Jaipur, Jodhpur, Bikaner, Jaisalmer

(C) Kota, Tonk, Bundi, Jhalawar

(D) Pratapgarh, Dungarpur, Kishangarh, Shahpura

(E)  Question not attempted

e 3 TR 3 e =er § for A et i e e § e gem?
(A) wAerER, FAE, YTy, At

(B) A, ST, S, ST

(C) e, 2, 441, AT

(D) vATITE, SRYL, g, AETW

(E) wuid 94
4 The adult human dental formula is:
e A 2d A
2123 .
&) 7123 JION— i
2112 22 I:;i J
©) F75 D 2122
2112 o I
(E)  Question not attempted / gt 2122
Al15] 45% ;
ﬁ} : [ P.T.O.
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5 Given below are two statements:
Statement (I): Blood transfusion is a method in which blood or blood products are transferred from the circulatory
)

system of one person to andi ]lfbr
e”",t

Statement (II): The first bldod transfusion was carricd out by Karl Landsteiner.

In light of the above ﬁmlcmg\i!\ choose the most appropriate answer from the options gwcn Lelow
)

(A)  Statement (I) is truc rlll Statement (I1) is false. C
(B)  Statement () is false {)ut Statement (II) is true. {:.‘L’:
(C)  Both Statement (1) 'lﬁ'cLStatcmcnt (1T) are true. ;‘,
(D)  Both Statement (1) and Statement (II) are false. :*!
(E)  Question not attempm
= 3 e R e & 0 "
AT : mmm@wﬁéﬁmﬁ@mﬁﬁﬁmwﬁﬁ%wﬁﬁmmmmﬁmﬁm
STTaT Rl
HUT I 2 mmwm@mmﬁmww -‘f
aﬁmm%mﬁﬁﬁﬁ%ﬁﬁwﬁﬁwﬁbﬁmwaﬁ Pee)
(&) W(I)W%mﬂm(ll)m% (B) m(l)méﬁgm(xl)wél
AC) T (1) ST (I B we & (D)  FA (1) 3w (11) T 2787 2
(E) IR wx i |
6 Which of the following is im:’c)rrecﬂy matched? £
(A) Plaster of Paris - CaSO&‘, 3 H O (B) Baking soda - NaHCO, 2
(C) Washing soda - Na,CO, (D) Bleaching powder - Ca0 3=
(E)  Question not attempi&d o
e i & e Rremrgd T 2 o
(A) IR 3T AfE- céé'é,%mo (B) af¥drer NaHCO, LS
(C) afEFTHET- I\Iaﬁcof'""g : (D) sefRTYRS-Ca0 i
(E) 3Iraia@ud o M
) O
7 Given below are two statements:

0N
‘KARYA” ‘;\3 a program of department of science and technology, govem_n_}_cint of Rajasthan.

Statement (I) :

Statement (IT) : ‘KARYA d}ms to provide short term research opportunities to students of. basu: sciences at graduate

level only. o r\

In light of the above statemepts, choose the most appropriate answer from the options given below:

(A) Statement (I) is corrgcqbut Statement (II) is incorrect. v

(B)  Statement (I) is incorrect but Statement (II) is correct.

(C) Both Statement ) ap;i)Statement (I1) are correct. )

(D) Both Statement ) aﬂg‘;Statement (II) are incorrect, O

(E) Question not attcmp{eq o

5 1o frg e E =i bty

e - 1 : FE(KARYA) frgr v drenfireh forsam, wroreerm wepm o ueh s 1 x

o - 11 : FT (KARYA) FL8 et S 3 i b gfardt farrt & g sforeh T et 0 wam e
e 35 i i Freafeifaa fret i & wartferes gwgw sao 0

£n) A (1) W & fopg e (11) IR R (B) o (1) e & Ry e (e

(©) A (1) e (11) 3 wel B (D) e (1) 3t e (1) e &)

(E) FFaRaud
Al5] B 2 [PT.0,
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10

11

a15] @ 4

. Hi
Where is e princiP ] seat of Rajasthan g )
(A) Kota (D)  Ajmer
©) Barmer t ucmptcd s
E Question " a Fal
® s R ) o
@) (D) I
©) T
B T
Who was the State Election Commissioncr of Rajasthan (i:rmgioz?’? 7
(@A) Madokar OUP® () Amar Singh Rathor
] (D) Inderjit Khanna
© N.R. Bhasi
(E) Question 10t attempted
aézozsﬁmwﬁﬁﬂﬂ“ﬁmﬁm :
y  FECT ® fig TN
© I @ aET
(E) At $H
Which of the following statements is not trué with regard t0 the Comptroller and Auditor General of India?
. The CAG is appoited by the President of India.
b. The CAG can be removed o the recommendation of the President of Inidia.
c. The salary and allowances of the CAG ar¢ charged on the consolidated fund of India.
d. The Tenure of CAG is fixed for five years-
Choose the most appropriate answet from the options giVen below:
A) b¢ and d only ®B) 2 pandd only
(c) a¢ and d only : . o™ & b and © only
(E) Question not attempted
g w T o o st i A A
a (CAG)ﬁW%Wqﬁa;mﬁwmm%l
5, fEa %W“%"WAG)ﬁmmaﬁ%l
c. Eal G) F A ‘
ey st A B R
d. %(CAG)mm5m%mﬁf\ ; '
e e 7 O ST G t
() FAAb,C aftd 5 ‘
) s o B 3yt a, b 3
() FHETA (D) et a, b 3C
Ffefad e i yyz ferftad e 2.
a, E{fzﬁ
c. ave b. o
e fAerml d. Hfia
4 e e it 7 1 Al ferd JUgE I
iy T e i
iy ®) Fwasfed
(D) et b IAC
10
(P

©)
(E) aﬂﬂf@ qq
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12 o oREd hell i S ferieae -

a. qudr b. [IeAdr

c. TawrEar d 3w

e. Gferaar
ﬂ%ﬁﬁﬂqﬁ?ﬁ“ﬁﬁﬁmw\gmmmmaﬁﬁm
(A) Facie,d3I b (B) Fadic,d3iMa
(C) Hadc,d3fMe 4D) FacTa, b3e
(B) gaia s
(A) TR 234 . (B) 3T 283
(C) T=DT 343 {D) 3TI=RR 243
(B) = Aguia s

14 Which of the following is the starting point of the Ram Setu in India?

(A)  Arichal Munai (B) Shivaganga
(C) Thanjavur (D) Madurai

(E)  Question not attempted

T & Fretefad & & =i a1 T 1 i fig 32

(a) e ®) frtm
() d (D) T
(B)  Sffaia

15 Which Union Ministry launched the ‘Swachh Sarvekshan 2023’ - Mera Shahar, Meri Pehchan’ survey? (Choose the
most appropriate option from below)
(A) Ministry of Jal Shakti
(B) Ministry of Tourism
(C) Ministry of Housing and Urban Affairs (MoHUA)
(D) Ministry of MSME
(E)  Question not attempted

e e Y = TRATT 2023 - BT ITEX A qgE i waeror wreew feram (et H & wed U T )

(A) i wifes dAE B) WeAHATE
(C) e T Il R A , (D) UH.TH.UH. I A
(E) STfaia s
16 In Olympic 2024, India was at spot in the medals tally?
(A) 370 B) 91
(C) 17* D) 71

(E)  Question not attempted :
AeifiF 2024 F ARG Uem aifeqem B T WD

(a) 379 B) 913
c) 179 D) 713
(B) Faiaag

17 Which state hosted Outlook Planet Sustainability Summit and Awards-2024?
(A) Goa (B) Tamil Nadu
(C) Rajasthan (D) Maharashtra

(E)  Question not attempted

ForE T T I W TeeAfaferdl Aie Ue STargy 2024 Y st

(A) TEr j(g)) aftrerTg
(C) TUH HEIZ
(B) gaRawa

A15] &5 S [P.T.0,



https://freshwhatsappgroup.blogspot.com/?m=1

18 Choose the odd one out.

(A) Greece M (B) Franc(el “j}
(C) Korea ! (D)  Polan ;;:)
(E)  Question not attempted ™ __E
ey s A ki | j
) @ (8) o
AC)  Jfen o] (D) i <
(B) Sfuiawx i) lf:’
v L
19  Ifina certain code, O is written as L, A as H,Mas I, Sas F, NasT,EasS,[as A, Pas Gand C as E, then how wil|
COMPANIES be written in that'¢ode? M
MR FFRFTTO L AT METL SH F,NRT,EF S, IH A, Pﬁcqaca?uz%@-m% dE T
COMPANIES %1 3 firar ety o '
(A) ELIGHATFS v ~B) ELIGHTASF vi
(C) ELIGHSBSE (43 (D) ELGHITASF 0
(E)  Question not attempted?"@l:ﬁlﬂ?f B ‘:;*3
My 4
20  Take the given two statements {6’ be true even if they seem to be at variance from commovfy known facts, then decide
which conclusion would follow on the basis of given statements?
Statements I : No Apple is Bdnana. i
Some Bananas aré grapes. 2
Conclusion IT : I. No Apple ar@“‘ apes. &Y
1. All Apples=are grapes is a possibility. |
In light of the above statements;‘zhoose the most appropriate answer from the options %ﬁen below:
(A) Both conclusion I and IH%llow .(B) Neither I nor II followsf“:‘*'
(C) Only conclusion I fOHO%V (D)  Only conclusion II foll(gws
(E)  Question not attempted® v
AT A T Y AT Y A W R, ST € A WA [0 aedt @ P el 2 e, mﬁ%mm%%aﬁww
frred frq T1q et 3T foheh ©4 £ STTET ST 87
FAl: e, e &,5
o ¥, S ™
frowd 11 : 1 aE i dm, amt%”’ 7
1L =i 8, mé’-‘ra‘ﬁwm%l 0
mmﬁ%mﬁmﬁmﬁammwﬁ ]
(A) 2 e 1 mﬁﬁma _(B) FAIsRTAN :mwrl%im
(©) e foromd 1 ST e 2 (D) WWIIWW%I
(E) rdi@ud -
M
21  Anoop told Munna, “chterd{jnl, .!l defeated the only brother of the daughter of my g brmdﬁlmther Whom did Anoop
defeat? t":I
() Son u . (B)  Cousin ‘"i
(C).. - Brother (D)  Father ®
(E) Question not am:mp;‘c:ll':i:I -
ST & T § o, e HA %‘mﬁ@ﬁm“‘iﬁmﬁwlwﬁwmm
@) TH B) R F
© E o) Rersha
E) ST WA
a15] & . PO L



22 There are five friends — Sachin, Kamal, Mohan, Arun and Ram. Sachin is shorter than Kamal, but taller than Ram.
Mohan is the tallest. Arun is a little shorter than Kamal and a little taller than Sachin.
Who is the second tallest?
(A) Kamal (B) Arun
(C) Ram (D)  Sachin
(E)  Question not attempted
i et 3- Afe, F, HIeH, 37607 391 1) AR 1 o el & DI R, TTUH A wrgT B et i 2 A oA 31 310

T A W ST A 2 3N AT F egrarer )

o T qE T ST 87 .

4£8) PR (B) mem
© W (D) aRm
(E) aiaud

23 Which of the following words will come second in the English dictionary?

Stirsit wreeehiyT H frrferiiaa 3 9 ot a1 vroq qE R W Sem?

_(A) Matemal (B)  Magnify
ji) Magnetic (D) Magical
(E)  Question not attempted / 31':!31’&?[ BES
24 Arrange the following States / UT of India in descending order according to their population density (Census 2011).
a. ‘Kerala b. West Bengal
c. Delhi d. Bihar
T 3 Frefia Tat / Seenfi S Y 2011 i FEAT 3 ATUR T SHEGAT T 3 STTAT ST () 79 |
afera Sifsy :
a. H b. iy S
c. foosht d. [ER

Choose the most appropriate answer from the options given below:
g g e forehedt # & waffire gage SEC:

4A) c,ad,b (B) a,db,c
(C) a,d,cb (D) ¢,d,b,a
(E)  Question not attempted / Hfﬁf{?f e

25 Given below are two statements:
Statement (I) : Alluvial soils contain an adequate amount of Potassium, Phosphoric Acid and lime, which are ideal
for growth of sugarcane, paddy, wheat and other cereal and pulse crops.
Statement (IT) : This soil contains enough quantity of Nitrogen.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is correct but Statement (II) is incorrect.
(B) Statement (I) is incorrect but Statement (II) is correct,
(C)  Both Statement (I) and Statement (I1) are correct.
(D)  Both Statement (I) and Statement (II) are incorrect,
(E)  Question not attempted
#r3 2r weA fag o €
@ () . STtz firdh i qate wran i drera, Siew e vt S S TR S R, S, 9, 18 3 31 3 3K werey
waet & Icared & fag swest €
mer (1) : 39 firgh 3 vt wran  rggror arit sy 8)
SR T o Tl i, e faw e feraredt A @ wraffae sug STl

(A) A (1) TE & AR e (11) TR B (B) e (1) T & Qfe e (1) T R
(©) e (1) 3w (1) 2w € D) e (1) aftcaper (1) S e 8
() igaRawa
Al15] £ 7 [P.T.0.
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18

19

20

(v} :
26  Among the following places in Raia_;han, where is the Pichola lake mfuated ? g
(A) Bhilwara ™ (B) Kf‘m"h .
(C)  Udaipur v (D) Ajmer 0N
(E)  Question not attempted (X i
ﬁﬂ’w(ﬁiﬂmﬁﬁamm%&?%ﬁaﬁﬁﬁmmﬁwm%? o
(A) et N (®) e o
AC)  sEw : (D) IR i
()  3rufawy v -
27 From which generation of computdtithe use of Integrated Circuits (IC) started?
(A)  Third Generation () (B)  Fourth Generation M
(C)  First Generation 0N (D) Second Generation O
(}3) Question not attempted i N
Wﬁﬁ?ﬁ%ﬁ%m@r@.m)mw:ﬁw% L
@) i o () i 0
(©) el ich 0 (D) - et il o
B  vrehas al 1)
28  Which of the following options is arranged in descending order of their storage size? i
TR T % TN ST 1 8 AT e ST (et 75 3 srfier 29
(A)  Bit, MB, Nibble, KB (7 (B) Bit, GB, KB, MB ™)
£)  MB,KB, Byte, Nibble (%] (D) Nibble, KB,MB,GB ()
(E)  Question not attempted / Tgafa ww N
29 PARAM is a series of \%;embled in India by C-DAC, Pune. Cf;
(A)  Micro Computer Ty (B) Mainframe Computer o
(C)  Mini Computer ‘___i (D)  Super Computer To)
(E)  Question not attempted - =
e ﬁ@%@m%,fﬁﬁﬁ%mﬁmmﬁ%a%ml )
_— 4] ° .
(A) TR R M, (B) ATk shogex c
© Frfrdmg a0 D) TR o
E)  gafaws i Ny
30 Ramganj Mandi, also known as cd¥ander city, is situated near which of the following citie‘s“c;f‘Rajasthan?
(A)  Sriganganagar € (B) Kota ’ (3]
(C)  Jodhpur (Iy] (D) Udaipur QO
(E)  Question not attempted ¢~ L
TSt wE, TSt arfera wret o A & st S 2, Freforfaa & & Tt & frg wree & o fere 29
(A)  #rimEm o . 4B) =
(C) <am () (D)  SRAW M
(E) it wa C4 Q
: 4
31 Which of the following districts&é Rajasthan is famous for the highest production of f\trle
the state ? C,J ()
(A) Bundi \ ﬁ (B) Kota -
(C)  Sri Ganganagar - (D) Jaisalmer 1)
(E)  Question not attempted ’ |
ST % B 6 e e 202223 4 v it 36 e e 3 R sfra 2
() B) @
(©) i (D) Stweme
(B) qaf@wy
Al5 ] @ 8

at in year 20

7973 ;

PAFAR |

[P.T.0



Which among the following is not an Agro based Industry in the state of Rajasthan?
A) Iron and Steel lndustry (H) Cotton [ndugtry

). Rl Mills (D) Rice Mills
E)  Question not attempted

e Ta i AR & 0w e 5 fy smmenfa se i &
4A) e SR gEa e (B) = 3,
© = fint Y (D) =W ﬁq@t
® T ‘ w;
33 Who declared ﬂld status of women should also be raised and womensHould be trained to take a larger and more
intelligent intereStin public affairs” at the Maharashtra Provincial Conféfénce in May, 1928?
(A)  Subhash Chandra Bose (B) Bhagat Singh
(C) MahatmaGandhi (D) J.L.Nehfy
(E)  Question not attempted v
RIS, S Rraret Fester #-1928 # forery wivwomr it “Wi%waﬁﬁf@lﬁrmmﬁmm%qaﬁw%ama%mmg’r
ﬁmaﬁtmm%ﬁéﬁ%%@mmmw ?
(©) q‘m—mmﬁ! D) % ?r'a'é
(E)  STafa war '
0 o
34 In 1859, ‘Rehef&f Lucknow’ painting was painted by (08
(A) Oubam Vo (B) Havelocks
(C) Thomas Jones Barker (D) Campb‘?l}}
(E) Questlonrngt attempted :g
oo 3T 1859 H, et 3iTe e f%ﬁr(pamtmg)aqrd’mﬁ%ﬁ*? P
(A) W '\s“} .('B) %EIFFIEF
(C)  omH AR (D) I (V)
(E)  STIRa = o
35 The University ‘Educatlon Commission was set-up in the year ™ under the Chairmanship of Dr. S.
Radhakrishnan. &3 ke
<, O, T B sreara i ferafirerer fre s i v e & a9 g
(A) 1951 &) AB) 1953 (O
(C) 1947 o= (D) 1948 if})
(E)  Question not attempted / 31‘:11?1'&?[ T 4
36  Sewan, Dhaman(4nd Karad are ;
(A) Types of @rasses (B)  Types of Rajasthani painting forms
(C)  Types ofifolk dances (D)  Desert sails
(E) Questionngt attempted ] N
e, e S, & i _
4A) umz‘swi (B)  Tsrerr e () €9 & wwR
(©) mmﬁw (D) TR T,
A 92 , 9]
(E) Ay : :
37 fFEfafaadag K a1ez fardeft 82 L
L(© fagdr ‘4’ ©)
(E) wiaf@ e .ﬁ N
38 ﬁnﬁr@aﬁ%ﬁwﬁmwﬁmwﬁaﬁgﬁa, il
(A) c; @ 4 o
4C) =ua (D) @
(E) Mﬂﬁﬁﬁﬁm u’}
A15] 45§ ? o [P.T.O.



https://freshwhatsappgroup.blogspot.com/?m=1

; two statements:
Stateme - Most of the rulers of the princely states after Independence of India were averse to join the Constituent

Assembly.
Statement (IT) : This response of rulers of the princely states meant that after independence there was a very real

possibility that India would get further divided into a number of small countries.

In light of the above statements, choose the most appropriate answer from the options given below:

(A)  Statement (I) is correct but Statement (II) is incorrect.

(B)  Statement (I) is incorrect but Statement (II) is correct.

(C) Both Statement (I) and Statement (II) are correct.

(D) = Both Statement (I) and Statement (II) are incorrect.

(E)  Question not attempted

HYA (1) : TRA hl ST b 1 T % g ITH ST /1 7 T o foreg 2

AT (1) : T TS <t g rfohan ohr 27ef ot o Taca o w1 Wk 1St whare oft 5 st S @i 2 | <fe sram
SYUH el 3 AT H, i few e fped! § & wad Sug S|

(A) & (1) 9E ® AR T (1) T 21 (B) O (1) TR B AfeR I (1) T R
(C) = (I) 3R T (1) T & | (D) WA (I) 3R A (IT) ST & 7Terat 2
(E) TJuiawy
40 Where is the archaeological site of “Civilization of Balathal” situated?
(A) Hanumangarh (B) Ajmer
(C)  Vallabhnagar, Udaipur (D) Mount Abu, Sirohi
(E)  Question not attempted
“STTEIET ST T Ul Toret et feera 22 -
LA) TR (B) TR
(C) TR, IR (D) e e, Fodielt
(E) Ifuiay
41 In which year Prithivi Raj III defeated Chandel Ruler of Mahoba?
(A) 1191 A.D. (B) 1192 AD.
(C) 1181 A.D. (D) 1182 AD.
(E)  Question not attempted
Tore o H el Tt 111 7 AT o 6 el S ST 412
(A) 1191%. (B) 1192%.
(C) 11813 D) 1182%.
(E) gaitd 94
42 *“Saheliyon ki Bari” a popular tourist destination in Udaipur was built by
(A)  Maharaja Surajmal (B)  Mabharaja Udai Singh
(C)  Maharana Shambhu Singh-I (D) Maharana Sangram Singh - 11
(E)  Question not attempted
A T U, Yitrg gdesh T “qefordi 6 arel e gr e ma o |
(A)  HErST gl (B) W 3¢ i
(C)  merom w7y fife-I AD)  wTon w11
(E)  ergafa g
43 In the sentence given, replace the underlined words, choosing the most suitable idiom from the options below:
He was arrested without being given a reason.
(A)  atodds and ends (B)  outand out.
(C)  overand above ' D) for no rhyme or reason
(E)  Question not attempted
A1S] g 10 PrES
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45

46

47

48

For the given sentence, choose the most appropriate answer from the options below:
The language and style of a formal letter is-

(A) very friend{xj _iB)  polite and l?rvxe,:f
(C)  lengthy ¢= (D) chatty e:"_j
(E)  Question npt,attempted £
i ¥4
For the word givefiiin Hindi, choose the most appropriate word in Engllsh&from the options below:
CrepTio) ] @
(A) unacceptablé} (B) untenable {{}
(C) tenable =4 (D)  acceptable y-§
(E)  Question not attempted
¢ £
Match List-I with:List-IT i)
List-1(Chhatri) List-II (Placés)
a.  Chhatti of Sawai Jai Singh L Alwar g
b. Chhatri of Musi Rani II.  Ramgarh {f}
c. ChHatti of Gopal Singh III.  Gatore {3}
d. Sethon ki Chhatri IV. Karauli £}
TEft-1 3 arer Teh- 11 s firerm hifsrg 1
mﬁ I (Sadn) FE-11 (TT)
a. mﬁmﬁgﬁmﬁ L FE
b. ‘:Rjﬁ Tf:ﬁ = Bl L THITG !?“_}
c. rﬁqraﬁraaﬁ@aﬂ L. TR oy
d. ﬁa’raﬁ V. R
Choose the most appropriate answer from the options given below: (3 9]
i feq e faemedi & waifaes Iag® Sw: £
(A) a-1V,b-Tc-1,d-1I M) a-lILb-Le-1v,d-1
(C) a-Lb-ILcdI,d-1IV (D) a-ILb-LeflV,d-II
(E)  Question not attempted / Hﬂﬁﬁﬁ BE)
jiip #94
Who is famous asﬁ@agad Ki Meera’? : j
(A) Gavri Bai “ f (B) Panna Dhaé \;
(C) RanaBai ° | D) Karmawatll\'m:'
(E)  Question not _attempted Eﬁ
“amrg ht {r a‘smﬁaﬁwﬁ@%‘? bt
Ay T (B) FATHE. |
‘© w1 ©
(E) i@y
After Independence }hrce states in Rajputana acceded to the Indian Union 3hrpugh the-
(A) Instrument, oglntegranon (B)  Accession {nm’ument League
(C)  Instrument of] iObligation (D) Instrument“gqAccessnon
(E)  Question not attempted e 9]
%ﬂﬁﬁﬁmmqmm&mﬂ%mﬂmﬁmmﬁﬁ—m ﬂﬁ'}ﬁﬁmmﬁl
(A) TR SE Y (B) U gRghye ofiT
(©)  Tugh S Hifeeriem (D) SRIZE g [T
(B) Faia us

A15] 43 11 [P.T.O.
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49  Which part of the telephone device accepts voice and sends that information in the form of electromagnetic moves?
(A) Dialer (B) Mouth Piece
(C) Receiver (D) Cable
(E)  Question not attempted

AT STHTUT T TE 1 HT W & S ST 1 TR T & 3 30 F=T b forga [erehi ot & w0 § S7ar &7

A) SR (B) U dH
(©) fadiax (D) Faa
(BE) rgaiaww
50 Which one of the following is not the mode of Social media?
(A) Broadband (B) Blogging
(C) Facebook (D) Twitter

(B)  Question not attempted

ﬁw%%aﬁ%ﬁqmmtﬁ%mmmm@aqﬁ%?

_(A) SiEds B) s
© wugw D) fE=
(B) Irgafawx '
51 Who of the following space travellers born in India died in space shuttle of Columbia during its returning?
(A) RituKaridhal - (B) Sirisha Bandla
(©) Kalpana Chawla (D) Sunita Williams

(E)  Question not attempted

= & & wra & S=A, W 3fctfer Al off et aTaet 3 < Ficifor 3 sidle @@ ¥ 7oy 2 o

A) Tg=ieaa ®) i aiear
~C) T A& D) g fafoea
(E) Sfgai@wsr

52 Given below are two statements:
Statement (I) : Gram is grown as “Rabi” crop in Rajasthan.
Statement (IT) : Oilseeds are grown both in “Rabi” and “Kharif” seasons in Rajasthan.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is correct but Statement (II) is incorrect.
(B)  Statement (I) is incorrect but Statement (II) is correct.
(C) Both Statement (I) and Statement (II) are correct.
(D) Both Statement (I) and Statement (II) are incorrect.
(E) Question not attempted
e S = e &:
HAT (1) : T TS H T A S &9 H I [ )
YA (11) : foarea Torem # <l 3R @lw” SRt Hew § 3o s §)
I shert o6 et H, A e e et 3 & watfirn suge s

(A) o (1) el & ARt e (1) Tord 2 (B) % (1) TTerd ¥ SRR e (1) Wt )
(C) = (1) 3 (1) ST a8 (D) e (1) 3R Fo (11) AT e )
(E) rqafa a4

53 Which of the following taxes is not levied and collected by the State Government of Rajasthan?
(A) Road/Vehicle Tax (B)  Income Tax
(C)  Taxes on Agricultural Income (D)  Taxes on land and structure

(E)  Question not attempted

mﬁ%mmmmmmmmaﬁmqﬁmmp

©) it sm R (D) iy e wicemT W aR
(B) rpuf@yus
A15] 12
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54 Which of the following is not a salient feature of the Indian Constitution?
(A) Provisions drawn from various sources (B) Provision of Dual citizenship
(C) Lengtheist written Constitution (D)  Universal Adult Franchise
(E)  Question not attempted
Frrferfad 3 & Fr € vTRe wfrr s o e fasihar e 82
(a) fafie gt & fag 1@ e 4B)  Srgd ATTiEwRdT T M@
(C) w=@ den fafaa d@faum (D)  arehifies aawh AaTiHR
(E) AgaRa 9w
55  Who describes Prime Minister as “Primus inter pares” (First among equals) and “key stone of the Cabinet arch”?
(A) H.J.Laski (B) Munro
(C) Raunsary Muir (D) Lord Morely
(E)  Question not attempted
ForErY o Tt Y T ST A (WHeRE 8 w3 are) 3R pfarye &y Wi & 9 A afvid
(A) TAS. AR ' @B) T
© TR (D) WA
(E) SIgaiaws
56 ARG RgTE:
T - 1 ¢ ST AT a T E T & e S SR el T S T e T €
U - 11+ TepeieR FraTait o e ohef O gt 21 et 3 foreT IerenT 3vef T AR & Wl
Eqﬂﬁm%mﬁﬁw%ﬁgﬁﬁﬁﬁﬁmﬁbwmwgﬁ :
(A) FRITAE, Firg F 11 I | (B) FFIEA R, FgFIEasl
4C) A1 I ST w8 (D) e 1 3T T 378 &
(E) = IaRaud
57 <aTHEEE o auE e g
AA) TR HgETEIT (B) AHEE AT
(C) SHf@EH (D)  3THE 3T
(E) i
g Freferaa i & Rt wredt 3 <yt S 1SR R?
a. m b. =T
[ JaR d. BIGETLY
€. Bt '
3 fog T freped & & waifires UG ST ©
(A) Fada,b3Mc (B) addb,c 3R d
(C) Fadc,d3ie D) Haa, d3Te
(B) i@y
59 Name the left bank tributary of the Brahmaputra River?
(A) Burhi Dihing (B) Sankosh
(C)  Subansiri (D) Kameng
(E)  Question not attempted
T 7 o o e Y wErrh 7 A AT -
A) TR RRm (B) H&IW
(€ R (D) T
(E) gai@ws '
A1S] G = [PT.0.
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The Western Ghats are known as ‘Sahyadri’ in which state?
(A)  Tamil Nadu (B) Kerala

© Kamatam (D) Maharashtra ™) :
(E) QuestloSﬂot attempted ©

ol et et e 2 v s e e o
(A) aﬁl?r:n{ © (B) FA ::::)
©) wiew g:; (D) WeWrg &
E)  aRa g T
L
61 Which generation of computers uses Vacuum tubes for Circuitry and Magnetic drum of Memory?
(A) Third gen_,eration (B) Fourth generanpn
(©) First geueratlon (D) Second generation
(BE) Questloxe not attempted _
T T i B et mm@mﬁ%mmmmmmma
(A Ry ®) Fefidict
©) e iy @) WEE o
(E) oty sy To!
=4 ¥4
62 A set of wires which carries a group of bits simultaneously, that is, in parallel, and has an associated control scheme
is known as : 8 £y
(A) Bus &4 (B)  Registers &y
©)  wires (§Y) (D) data cables ‘:\5
(E) Questlor; not attempted
aﬁaﬁ@mﬁﬁ@mﬁm%@mﬁém% A HHAIR aﬁt@gaﬁaﬁammasmﬁmw
& & o
(A) =@ ®) Rz To!
© @ i AD) TaFEA
(B) gaiays
erl ' i)
63 The name of the ﬁrst Indian Satellite is : =y
(A) Aryabhatt (B)  Kalpana el
(C) Bhaskar 1 (D)  Insat-l ]
(E) Questlog pot attempted i“ﬂ
o %mﬁv:rmwm;%’ e
A) e 1) (B) e e
©) I ©) el
(E) agaﬁ'amr
t "
64 Which fair was’started by Kachhwaha's to cherish thejr victory over ChandratMeena?
(A)  Khalkani Mata Donkey fair (B)  Diggi Kalyan ji*fair
(C)  Bhartrhdri fair (D) Pushkar fair
(E)  Questioh’not attempted _ o
3 sfton ¢ st 2 et AT % foT0 HOAET B -0 e 3y foay v -
AA) i e g e (B) et srearor stt M
) e (D)  gewden
(B) srgufta w4
Al15] £§ 14
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67

68

Who, amongst the following famous artists, has represented Rajasthan in the Bharat Utsav in ‘Bahrupia Kala’
(A)  Amar Singh Rathore (B)  Jai Singh Rathore

(C) Jamna Lal Bhatt (D)  Janki Lal Bhand

(E)  Question not attempted

frafafaa 1 @ forg aftg e 3 Wi Scaa § Tesfua sar | g™ & gfafifier

a) ImRiEuSs : B) wmfirwEe
 (C) SHATATT ¥e D) S AT Wig
| (B) ATARauH

'When did Netaji Subhash Chandra Bose proclaimed the setting up of the provisional government of free India at
Singapore?
(A)  23rd QOctober 1943 (B) 24! October 1943
(©)  21% October 1943 (D) 22 October 1943
(E)  Question not attempted
Sareft G i s ¥ R A e s oh el (e Sehr T A s o art s o6
LA) 23 AT 1943 (B) 24 3T 1943
(C) 21 AF 1943 (D) 22 A 1943
(E) Igaiawy
Choose the correct statements from the options given below:
a. The British Parliament passed the Indian Independence Act on July 05, 1947.
b. This Act was based on the Mountbatten Plan.
c. The Act got royal assent on August 10, 1947.
d. The Act was implemented on August 15, 1947.
Choose the most appropriate answer from the options given below:
(A) a,canddonly (B) b,canddonly
(C) a,bandconly (D) a,bandd only
(E)  Question not attempted
et g e fiyepedt & & Tt o 4
o TfesrEes Y 05 WS, 1947 P SRR T st i
b, g sTRIFEE TS e oh AN T AT o
e, siRifRmY 10 ST, 1947 1 A TfiHf W A
4 sifEE () 15 ST, 1947 i Ar] R T o
o forw T e & & wartferd I9gw ST IH:
(A) FaAa,cHTd p) e b, c IHRd
) FAda,bRC , (D) Fada,bIiRd
() HAEi@ys
Which country’s armed forces were awarded the coveted ‘Golden Owl1” award for their outstanding performance in

Dec 20237 (Choose the most appropriate option from below)
(B)  Singapore

(A)  SriLanka
(C) India (D)  China
uestion not attempted
%%ﬂoéﬁma;‘iaﬁﬁgm 2023 # I I R g I8 ilee I’ T A gafs e & et g ey
Fueh fare )
(A) i (B)  femge
#C) wmd : (D
- (B) SATaiayd

Al5] @ 15 [P.T.O,
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d as the first woman Chief Justice of Uttarakhand High Court?

Who was appointe
(B) Indira Banarjee /
T

(A) Hima Kohli
(C) Ruma Pal

(§)ry Question not attempted o /
¢ e B el wite e e o g fRar i 87 /

(D)  Ritu Bahri

,(109\! e wieelt (B) Eféij ‘Kmﬁﬁ /

(Qq TTI ' (D) i i
o

B STFaRa g o0 (,

\\’i’ﬂ%h one among the following is a “Fossil Park™? o _ [

(B)  Ranthambhore

(A")f) Sariska
(@ Akal Wood (D) Keoladeo Ghana |

(E)  Question not attempted

(A)) wieER (B) ru;m;ﬁr
AQ) FFATS (D) Wﬁaw
(B) STIRRa s -l
71 \\gl%h of the following statements is not correct about Sahariya ti’i}% of Rajasthan?
(./}3'7 The chief of the tribe is called Tapara. ' !m}
(B) | They worship several Gods and Goddesses, but their maing’rgo@d is “Behru Bharani”.
(é)u The habitat of Sahariya is South-Eastern Rajasthan, that too limited to Shahabad and Kishanganj tehsils of
Baran district. ' = e 7o - e THE B :
(Q)-‘) They have “gotra” like Chauhan, Dodia etc. )
@S Que§tion not attempted . . m
ﬁa@%ﬁﬁﬁﬁ-mmnmﬁ%hamﬁ%aﬁﬁ@iﬂ%?
(A) T ST 3 TR S ST T ST 2 |
. ®)) 3ot el 1 St Y T R g 9 7 2 e A
; @3 agfcmmﬁamm-qﬁmmﬁ%‘aﬁtamﬁamﬁé%@;{r}%mﬁaﬂt%&zﬂﬁaaﬁﬁam%’rmﬁa%l
@) =97 <iter, Sifear a7fe S i 81 2 . ;*“
(E). It 94 ol
. =
72 For the sentence given, choose the most appropriate answer in the passive voice from the options below:
Mysister baked a cake. i
/(A;?;; A cake was baked by my sister. : z::;
B)r A cake was being baked by my sister. X r:?,
(G) A cake had been baked by my sister. ;:‘
@)y A cakeis being baked by my sister. j(:!:
(E-?D Question not attempted ‘:E,"
73 C}SQ lete the given sentence choosing the most appropriate word from the options below:
hfyﬁiother is in the Indian Foreign Services and can speak many’l‘aﬁguages. Heis a
(Ary Philatelist B)  Linguist
(G)y Pessimist (D) Péliy'glot
(B Question not attempted ::,;
74 ggf}f;ﬁ‘:r:z 1:’]']“:’: lf:':mencc Ch""Si:fn‘(l)‘e ’:l' osyapgr. l'l"rl'au..- wordffom the options below:
- . P — yed with him for his lack.af sympathy for the victim. i
(A)” feeling M) fedD
(B) ' Question not attempted r;i
AlS] 15 16 (P.T.O-



5 Which of the following are two cash crops of Rajasthan?

(A)  Bajra and Coriander (B) Barley and oil seeds
(C) Cotton and Tobacco (D)  Wheat and Rice
(E)  Question not attempted( '}
Frafafaa 7 @ F97  TSem Y &) e woel 8
(A) ST AR gl o (B) N 3 forere
R LRUALE vl (D) i aft e
\(E) Irgafa g o0
76 indlra Gandhi Canal ends in \:(kinych of the following districts of Rajasthan?
(A) Bharatpur v (B)  Udaipur
(C) Jodhpur s (D)  Jaisalmer

(E)  Question not attempted
sfea et Tex frfafaa 3§ & v 3 fre Rt 3 o et 22
(A) AR - (B)
(C) SbE Y (D)
(B) rgaftawx v

£}

77 Which city is known as ‘FoodBasket of Rajasthan

(A) Bikaner S (B)
(©)  Alwar et (D)
(E)  Question not attemptedt :
TorE TR T TS T W SR & ©9 8 ST ST 27
(A) AR M) (B)
(C) TR - D)
(E) ITgaiaw™ &

78 Pradhan Mantri Krishi SmchaLyee Yojana (PMKSY) was implemented in Rajasthan ﬁ‘om the year

RN
ISR

Ajmer

Sri Ganganagar
IS

ot TR

Tt T el R i e (o) o & e BT el
L) 2019-20 e (B)  2020-21
(C) 2015-16 ;‘ (D) 2017-18
(E)  Question not attempted / aﬂ'ﬂﬁﬁ B 1 V‘;
79 Rajasthan Agricultural Researéh Institute is situated at which of the following cities ‘7 :
(A) Jaipur ';-7 (B) Mount Abu "
(C)  Jodhpur o (D) Udaipur ~,
(E)  Question not attemptedr"§ ;;«{
mﬁﬁmmﬁﬁwﬁﬁmmﬁﬁw%v N
(A) SEAR - (B) HISE 3T ’1
AC) T L (D) &R 1«2
(E)  3Igaia 94 vl 1;3
80  ‘Deputation’ 15z 71 e arrda 9red B v
(a) femvea fafe O B) fnwvea .
) sfafrfE N ) e H
() rgaf wa . ; o
81 freferfian it & «fefm arare sy ar 8- r~
(A) T HRTH 2 L0 @) GEreefEy 00
«C) TEE srquferHt 21 i 4D)  EERwm ST G
(E) Idfw@ g™ 1 rz
17 '

A15] 5
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82

3T * TETER T T 37 B?

@A)  formr Rreiv e (B) THETET
(©) drar 4D)  fod we g
(B) oaRaws ' .
83 A group of girls stands in a single linc. One girl is nineteenth in order from both the ends, How many girls afe ther,
in the class? ] .
ST 1 Uk TR o et g R1 AT AT & O BT 19 3 56 5 @t 1 ot i ot vty o
(A) 35 B3
<€) 40 (D) 38 |
. (B)  Question not attempted / ﬂﬂﬁﬁﬂ T
84  Choose the odd one out.
(A) Aggregate (B)  Accumulate
(C) Congregate : (D) Disperse
(E)  Question not attempted
faw w1 =T
(A) Gkl (B) wfETFT
© TEAF D) Faae-fera g
(B) Agaiaws
85 The perimeter of a rectangle is 90 m. If its length is twice its breadth, then its area is:
T ST T TRATT 90 m 81 A< Saehl wivalTs <grs & Y &1, 1 3aeht Gowhat 2
(A) 460 m* (B) 420 m’
(©) 450m’ _P) 380m’
(E)  Question not attempted / 31':!31'&?{ 94
86  The average monthly income of ‘A’ and ‘B’ is % 6,000, that of ‘B’ and ‘C’ is ¥ 5,500 and that of ‘A’ and ‘C’ is Z 5250
What is ‘A’’s monthly income?
A FIC B i fred HIfees T 2 6,000 8, B T C Y fted mies 371 2 5,500 3R A 3k ¢ £ sigq wifi I
35,250 8, A9 A I ATT¥e IR R w12 i
W) X5750 (B) 26,200
(C©) 6,250 : (D) 76,450
(E)  Question not attempted / 3TTAI g2
87 ‘A’ borrows a sum of T 2000 from his friend ‘B’ on 31 December 2011 on the condition that he will return the same
after one year with simple interest at 8% per annum. However ‘A’ gets into a position of returning the money o 1
July 2012, How much interest amount he has to pay to *B’9
A s frx B @ 31 fe@rR 2011 1 2000 IUTCAAT S Rrereft 10 & o e e a1 896 i peqpco sarr & 38 A
ST % 3 QA A I8 T | S 2012 7 Aw o ) sy @ B T fofe samet 331 g3
(A) %100 B) 7120 .
© %0 (D) 90
(E)  Question not attempted / 3@% g
Al5] 5% 18
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RIS

8t
be percentage increase in his expenditure?
TRRYT TG 3T T 80% T et R1 Al Iweht 21T 14% & wg et & ot e 15%
wfeera gf gnfte M :
(A)  22.25% & . _.(B). 25%
© 20% N : . (D) 2125%
(E)  Question not attc:ﬁﬁ{cd | Agafa :
89  Which of the following 1;:1;ot a web browser?
(A)  Opera 4 (B) Gmail
(O  Mozilla Firefox (D)  Safari
(E)  Question not attempted
Pyt o & -6 e sreR T 22
(A) 3T o ) i
(C) ST BRI ‘*- (D) wHH
(B) omai@ys Qi‘:
90  Which of the following i?—-g;'Ot a medicinal plant?
(A)  Corchorus capsularis (B)  Ocimum sanctum
(C)  Emblica offi cmahs ! (D) Curcuma longa
(E) Question not attempted
feafafea @ -1 3ﬁmﬁ“&r Urer 7 87
(A) a?za?m%qmrﬁw B) e HeagH
(C) sl anfr‘sﬁmﬁ—lw (D) FFH M
(E) 3rgai@ g (&
i
91  Blue Revolution in India’was launched during the period :
(A) 1985-1990 (B)  1990-1995
(C) 1975-1980 28] (D)  1980-1985
(E)  Question not attempted
T 3 freft Fife o apremates ST bt g o7
(A) ®11985-1990 © AB) T 1990-1995
(©) @11975-1980 (D) ¥ 1980-1985
(E) wgafdya Ly
92 In which of the followiné,rlitajuslhan is the largest producer in the country?
(A)  Wool {7y (B) Tea
(C) Wheat [~ (D) Rice
(E)  Question not : attempled
Wﬁwﬁﬁqﬁmﬁﬁmﬂuﬂfﬂﬁ"wwrtm%»
(A) oA i 3 (B) =W
g1o) ﬁé ; | ‘ (D) =E&EA
(B) orai@ ua v
Al5] {85 19

Rakesh spends 80% of his income. If his income is increased by 14% and saving decreases by
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93 Which of the following dams of Rajasthan is for both irrigation and Hydroelectricity? (Choose the oSt appr: -
option from below) Pray
(A) Meja Dam (B)  Jawai Dam
(C) Ram Sagar Dam (D)  Rana Pratap Sagar Dam
(E)  Question not attempted ]
Torear # Frefifaa # & @ ar ety & R Riwrg afteser ferga 1 % foag swn i st 22 P53
foraea ) | Iy
(A)  HTEIY (B) @Y
(C) THEFR Y AD) T YT AR &
(E) rgaiaww
94  Vergheese Kurien is known as the father of which revolution in India ?
(A)  Green Revolution (B) Red Revolution
(C)  White Revolution (D)  Blue Revolution
(E)  Question not attempted
ayTitet SR T W 3 Forw shifer 3 S o w9 8 ST ST 82
JA)  Eawifa (B) @fed (F) shifd
AC)  Aasifd (D) et shifa
() Saiawy ‘
95  Which of the following is NOT a large scale Industry in India? (Choose the most appropriate option from below)
(A) Iron and Steel Industry (B)  Cotton Textile Industry
(©)  Jute Industry (D) Khadi and Village Industry
(E)  Question not attempted
Frfafaa § & -7 e #§ geq Joft 1 sdm Tt ee (=7 3 & Tt S forere )
(A) e i e 3 (B) T FuST AT
AC)  9Z&sam © (D) @R AR IR
(E) 3rgaiauy
96 As per the Budget 2024-25, the fiscal deficit is estimated to remain of GDP in 2024-25.
TSE 2024-25 1 YU 3 STTER TsTehIdiE et ad 2024-25 T W TN ITE T & T A R
(A) 58% B) 4.9% :
@) 51% D) 5.5%
(E)  Question not attempted / 311?[?(?[ e
97 In which year the Indian Government launched the New Economic Policy of India? (Choose the most apprOPm“
option from below)
e weER A fora ad 3 e o el snfeln if o gparesr R (e 3 @ el s forehe )
(A) 1990 (B) 1993 |
(€) 1992 D) 1991
(E)  Question not attempted / 3TTafd ¥
98 Who from the following has the primary responsibility of distribution of the food grains in India?
(A)  Food Safety and Standard Authority of India  (B) Employee’s State Insurance
(C)  Bureau of Indian Standards (D) Food Corporation of India
(E)  Question not attempted
e # Frefefiaa i & e & faaor ) sy Rieart fr 3
(A) vt e e I e R  ———
(C) HRdT A q¥I™ P)  red @ A
(B) STy
A15] £ 20 (P10




\ )
ville)
(E)

| For the sentence giv i
100 F given, choose the mggt appropriate answer in reported speech from the options below:

Choose the most appropri
PPropriate antonym of the word “Ancient” from below :

Destroy 3 Mod
m
Insult - "y
‘ (D)  Rough
Question not attempted

Ravi said, “My mother is going to her home town.”

(A)  Ravi said that his mother was going to her home town.
P Ravi said that his mother had gone to her home town.
(C)  Ravi said that his mother will £0 to her home town.
(D) Ravi said that his mother has gone to her home town.
(E)  Question not attempted
101 'Who was the first Lokayukta of Rajasthan?
(A) Justice LD. Dua (B)  Justice J.L. Gupta
(C) Justice Pratap Krishna Lohra (D)  Justice S.S. Kothari
(E)  Question not attempted
TR & ToH SAThTTh i &7
(A)  SiRcE AR E e (B) SiewSiTa. T
(C) <Re" yaTd T AT (D) SIReH TH.TH. SISl
(E) SFaRaud

10 What is the tenure of the Chairperson and M

S Years or upto 65 years of age whichever is earlier

(A)
(B) 3 Years or upto 65 years of age whichever is earlier
(C) 5 Years or upto 70 years of age whichever is earlier
(D) 3 Years or upto 70 years of age whichever is earlier
(E)  Question not attempted . i
mmm%mwmwmmm@
) saémssatfﬁwgﬁa‘r%ﬁq?@ﬁ
(®) 3mfm65at§ﬁargaao‘a°r%ﬁ¢3@@
© sarimmarfaaarngamﬁsﬁqa'@fg
(D) 33&111703!?3%3113665@“17@
®)  srHfea wa
1y Who among the following Was the first woman Governor of the state of Rajasthan?
(A) & (B)  Margret Alva
Prabha Rau B e
© K. . (D) ratibha Patil
® amla Beniwal
) : _
Queisitlon not attempt;g e arsarel ) i
(A) i T T (B) Wl sreEn
©) i 40y ufevrwifee
FHAT siftarer
® sty
s) 21

L

B

embers of the Rajasthan Human Rights Commission?

[P.T.O.
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104  The state bird of Rajasthan is ;

(A) Godawan ( Great Indian bustard ) (B) BlueJay
(C) Indian Ro}lpf (D)  Peacock tﬁ
(E) Question not]attcmplcd f;'j
rmmmmw&ﬂaﬂwm%? Y]
D) rﬁmm(ﬁz?%u-—rawé) B) Haks
(©) Wﬁa}tq ) "0
(B) IrgaRasar, 3
1y
105  Which of the follb\x?ing peaks of Aravali Ranges is the highest? P
(A) Jaga T (B) Kamalnath
(©)  Gurushikhar (D) Raghunathggrh
(E)  Question notyattempted
FUact sEen & frefafe Rredl § e S S s a2 f :
(A) ST iy (B) wHeHT i N
) TR () T
(E)  Srgafd uady) w
é:}
A | 154
106 “Kalisindh Therral Power Project’ is located in which of the followmg areas of Rajasthan? (Choose the most
appropriate optlon“from below)
(A) Barmer (B) Kota
(C) Jhalawar e (D) Bikaner gq
(E) Question not attempted <
Wmﬁﬁwﬁeﬁaﬂ Frfaftaa @ & e & e %ﬁﬂﬁ%%ﬂ(ﬁwﬁﬁwﬁaﬂ?ﬁﬁmgﬁ)
@A) @ ® w@
«£) wamEs (D) e m
(E) mﬁawf} it
£°3 [ 4
107 What will come itf place of *? i f
9 & TIH W -] 3 JTTm?
60, 45,32,21,?
(A) 14 ® 1 iy
© 16 7 D) 12
(E)  Question noe attempted / ST T l"
i o
108  What will come m,l;?lace of ‘?’ 313
‘Q’EWWWW €
| £y
O | @O
£y 8
‘¢ ? 6
—- =
(1 W)
(A) é Yy (B) Q— w2
1y 1y
© —(O— » \d}_ﬂ
(B)  Question not attempted / 3Taftd 94
: Al5 ] ﬁ} 22
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109 Some symbols are represented by letters as shown below:
T Tfleh! 1 7erdl g awitan T @ S o A farr e

+-[x[+=]=]>]<

B|G[E|C|D|A|F

Which of the following expression is most appropriate?

1 & A 1 w1 @i ITg HTF 87
(A) 15G5F 8G 4B 6C 3 (B) 15ASE8C4B 6E 3
(C) 15C15B8F4B6C2 (D) 15B 5G 8B 4G 6F 3

(E)  Question not attempted / 3TTANGT W1

110 Which of the following provisions of the Indian Constitution deals with the appointment and dismissal of the Council

of Ministers?
(A) Article 74 (B) Article 75
(C) Article 70 (D)  Article 72

(E)  Question not attempted

friferea & & st e v e ot g wifafg it FRfe 3 vewre & ey waar &

(A) g3 74 (B) =T 75
L) IR0 D) T2
(E) 31gufa us

111 The Planning Commission of India was formed on

(A) 1%t January 2015 (B) 2 QOctober 1950
(C) 26" January 1950 (D) 15" March 1950
(E)  Question not attempted

T o ST AT HITS I gam el

(A) 158 2015 ' (B) 234 1950
©) 265 1950 @B 1571950

(E) orufaux |

1 ‘Rane Jagpat Ra Marasya® was written to mourn the death of which ruler?
(A)  Maharaja Jeevan Singh (B)  Maharaja Jaideep Singh
(©)  Maharaja Janak Singh

(E)  Question not attempted

TN ST T T FoR T ol e 7 3 A & fer fereft wi eft?

(A) TR S fig (B) TSI S g
(C)  HERISI S g AD)  wERTS ST g

E) sraf@sa
23 [PT.O,

Als | )
_

(D)  Maharaja Jagat Singh




113 Which statements regarding Kuchamani Khayal are correct?

a. Kuchamani Khayal was started by the famous folk dramatist Lachhi Ram.
b Cha?d ilgiri, Rao Ridamal and Meera Mangal are the main khayals created by Lachhi Ram.
c. Kuchamani Khayal is not performed in an open theatre. &
d In tlvg!(hayal players of Dhol, Sarangi, Clarinet and Dholak nrd the main accompanists.
Choose the most appropnatc answer from the options given below: e
(A) a,b, andconly (B) a,banddonly?
(C) b,canddonly (D) a,c and d only}
(E)  Question notfattempted i L
ot TTer 35 e e 4 7 o e 2 v

a. T T TS e AR Test T T YIE (AT T e
b, SRR, T e ok v e, wreet T g e s e )
c. mwwgﬁmc&mﬁﬁwﬁﬂﬁﬁmw%ﬁ
d. 39 AT | 3, |, Wéaﬁtmmu@mﬁﬁﬁél
ﬁmmﬁmﬁﬁwﬁaﬁmwaﬁ

f4) Fab (B) Faeab 3ﬁ“{(d
(C) waab, caﬁ'(d D) %ﬁlﬁacaﬁtd
® smarawrit] . 4
114 Which part from ‘ashvagandha’ plant is used to make medicines? ;
(A) Leaves (7} (B) Roots ¢ j
(C) Flowers - . (D) Shoots ,

(E)  Question not alttempted

‘3T ﬁﬁ%%ﬂ%@aﬂs@nm@mmﬁammw? 13

() wReE B TH ey
© wEtE :é; © THH
(E) maﬂaw X &l =}
115 Natural rubber is a polymer of: P
(A)  Ethene "j? : (B) Butadiene g‘t
(C) Ethylene i:’i (D)* Isoprene s-:l
(E)  Question not artempted =
T v T Foreeh Q,?ﬁ ! i 27 : o
(A) T Q AB) g (O
© IR ® ol L0
(E)  SAgaftd W el =
116  Bifocal lens is used 14 correct the defect of: (Choose the most appropriate optlaotn from below)
(A) Cataract j)' (B) Ilypcrmetrop;uj
(C) Myopia " (D)  Presbyopia ‘ {
(E) Question not d}tempted «'\‘ ¥
ST St a1 ST e feafia i e el A o e fer, e it @ (R & werd e e )
(a) wfefiz | (B) wgwEfET U
©) frehe gfea.| D) SRy @mﬁﬁ)
(B) rgafa
A1S] 24 [P.T.O.
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117 Complete the sentence by choosing the most suitable article from the options given below:
Please get me ___ umbrella when I go out shopping as the monsoons are approaching. )

(A) No Article M 4B) an -
©) the < D a o
(E) Question not z:ttc:mpte‘cl%""i el
' 2 3 (¥
118 Complete the sentence by chooimg the most appropriate preposition from the options(given below:
I reached the school HS the gates closed. "W
(A4) by ks (B) from r~}
(C) later . (D)  before
(E)  Question not attempted .. "
13 o
119 Match List-l with ListIl: 7 o)
List-I (Words)_‘;i List-II (Synonyms) ~{
a generous an L esteem 0
b. honour ) 1L ridiculous {E}
c.  absurd iﬁ III.  achieve H
d. accomplish i IV. charitable ™
Choose the most appropriate answer from the options given below:
(A) a-1V,b-Tc-1II,d- ]I B a—II,b-III,c-TV,d-fI:i
(© a-Lb-Ic-IILd-IV, (D) a-ILb-IV,c-I,d- 1
(E)  Question not attempted» y| {:
™
120 FEEF T a:rwaﬁmg':ﬁjléahwgﬁ: {9
@A) = - 7B) W s
(C) = i) () faE ;m; ’
(E) orafawH v i
121 SEaEd g, e, q@, qfn, qr s gu e, awt e o fag e dare? ij
(A) oo g o] B) 3srfug E“’;
(©)  sreatxm N (D)  oiferemr -
® sphess
W o
122 3 g RgmgE o M)
HAT -1 : T IFFL o a9 2l ik
FUT -1 2§ I ST TR AT B
I Furt 3 e Preftaa fasedt § 4 waifaw Juges sa g - )
LA FAIEEE, Wmllm%l (B) IR, %ﬁmnw%l
() w1 3f 11 2w &1 (D) IWHMW%’.{
(E) gufaug N i
‘F " 1 an
123 1fCAT = 48, then MOUSE i equal to: @
M CAT =48 &Y, a‘rMOUSE%Ww%? lf;
(A) 148 ,-«,.1 (B 15 &
© 142 D) 146
(E)  Question not attempted / 313?1113 a4
AlS ] % 25 i [ P.T.O.
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124 Ranjan travelled 15 km northward, then turned right and travelled 10 km, then turned left and travelled 20 km, thep

125

126

127

128

turned left and travelled 10 km. How far was Ranjan from the starting point?
(A) 35km (B) 45km

(C) 30km ’ (D) 25km

(E)  Question not attempted

S SR S 15 el T, s e e e e 10 fepeft <1, 3wk ara =eff i gaart 20 Pt e, qerem, s
WWwWWImmw&mﬁg%mgww@w
LA) 35

(B) 45 forft
© 30 fFd D) 25 fmit
(B) Srjuiawx
Which of the following is an institutional factor of agriculture which influences the pattern and productivity of
agriculture?
(A)  Chemical Fertilisers (B)  Crop Insurance
(C)  Size of the holding of fields (D) Topography

(E)  Question not attempted

ﬁqﬁf@aﬁﬁqﬁmaﬁmmmmm,ﬁﬁmaﬁtmaﬁwﬁam%?

L) RS (B) wH
(C)  TefTer HY &= o7 o1 (D) TRl
(B) Agaiaws
‘Narma’ is associated with which crop in Rajasthan? 1
(A) Tea . - (B) Coffee
(©) Jute (D) Cotton
(E)  Question not attempted
TP TSEAH H for Forer & wrifead 82
A) == - (®) EaiE
© =& ‘"AD) ®U™
(E)- Srgafaw s

Which of the following statements is not correct about the Darjeeling and Sikkim Himalayas?
(A)  They are flanked by Nepal Himalayas in the West and Bhutan Himalayas in the East.
(B)  The higher reaches of this region are inhabited by Monpa.
(C) Itisaregion of high mountains peaks.
(D)  This region has well distributed rainfall throughout the years.
(E)  Question not attempted
afsifet oii fafer femera & e & fre @ it o oo et o 20
(A) A ufem & Jurer femrer i gd # e femmer & R
4B) 9 & % I T R AT F A R
(C) =& 3= yda fraii 1 &7 2|
(D) ¥4 &= F o Wi =i et yahr @ faafd 2

(E) gt gy

Duduma waterfall is located in which of the following state?

(A)  Jharkahand (B)  Odisha

(C)  West Bengal (D) Andhra Pradesh
(E)  Question not attempted

e 5 2 forr o 9 g stetarer fera 29

A)  wwEs AB)  aifean

© uftmame (D) iRy

(B) rpuf@wy

AIS] 45 26 [ P.T.0-
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Read the passage and answer questions 129 to 132 :

' “Stress” i

All people have some sfress in their lives. A little stress makes life interesting, afid keeps you on your toes.
However, too much stress can Pq_ﬁunhcalthy. You may find your life becoming stressful Whenever there are changes
in your environment, in your reqlaﬁionships, or in the demands you put on yourself, ad )

Stress can also be caused by good things in your life, such as

getting a new jobffﬁoving to a new place, or
getting married, ]

(3 o)

How can you tell whcwy?ur life is getting too “stressful”? You will probably fidd yourself always feeling
rushed, as though you must hur{y..\‘everywhere you go. There is never enough time to do evéryting that you need to do.
You may find yourself walking, talking, and eating more quickly than usual.

Besides causing emotiogaliproblems, stress can also cause real physical problems. Tf you have too much stress
in your life, you may suffer from'stomach problems, headaches or neck and shoulder pai/ﬁtJ

Prevention is the best Way to deal with stress. First of all, be organized- there Liéf‘-hothing so stressful as a
disorganized life. Put your lifg:and your surroundings (your home, apartment or desk at Work or school) in order.
Don’t procrastinate. Stop puttir_;igj{vthings off. Do what needs to be done today. On the ofhéf hand, don’t always feel
that you have to do everyting tight now. Learn to say “no™ to activities and commitme"ﬁgé that will only add more
stress to your life. Remember that you are only human, and that you can only do one thinEé At a time.

Learn to relax. Slow down! Take a break or a walk when you feel yourself getting “éfgessed. Find a hobby that
you enjoy. Reading, listening to music or creating something with your hands are all great ways to bring some peace
to a hectic life. Learn to laugh dtyourself arfd your life. Try to look on the bright side of life. Even when things seem

pretty dark and stressful, there iS'usually a place for some humor and a smile. ,;

129  What may cause stress? (Choog‘}%he most appropriate option from below) #f
(A)  When you do Yoga. f;} 0

/(,B) When 'you goon vacati(éié?vith friends. ;‘

(C) When you make change&iip the demands you put on yourself. u j

(D)  When you relax and megiit:ate. v

(E)  Question not attempted y

- |

130 How to tell if you are too stres;‘:c;q out ? (Choose the most appropriate option from beloW) :
(A)  You have time to volunggér for many social work. k“,
_~AB)  You are relaxed and take-life easy. o

(C)  You feel full of energy and josh.
(D)  You run short of time to do all you need to do.
(E)  Question not attempted L £}

- S
H

‘ ‘ - .
131  What is one of the appropriate way to manage stress? (Choose the most appropriate optlo‘n_n\from below)
i

Ly
*

(A) Take on many assignméiits together. .

_B) Do everything by yours¢lfiand avoid delegation of work.
(C)  Plan and organise your Work. .
(D)  Rush all the activities yoqﬂo. .

(E)  Question not attcmptedﬁl"_ _) 0
(8 T

132 ( h th { ‘-é 142 [h(', ](ll()” to l)t' ) our toes “Qlll lh ] ﬂpllk)lls bt‘lu\\':
oose e most ni ()’ 1 on y C
llp])l ()[)I’llllc' l’;“r b

. ’ (B)  be alert and ready for anything
(A Take a break () Lookon the bright side

©)
(E)

Als ] -%’;

Putting things off
Question not attempted
27 [ P.T.O.




133 Who was known as * Frontier Gandhi’?
(A) Khan Abdul Gaffar Khan (B)  Mohd. Rasooq
(C)  Mahatma Gandhi (D)  Sardar Patel
(E)  Question not attempted
gftmie et & T | R ST S| ane
AA) T T TR @ (B) HIEHE TH
(C)  WETeHT Ty (D) TERTHA
(B) oaiawy
134 Which of the following are not the Artificial Intelligence (AI) related projects initiated by the Rajasthan Government?
(A) UID (B)  Audio Analytics
(C©) RaBOT (D) Revenue Intelligence & Analytics
(E)  Question not attempted
freicfad 5 & 6 o o ehT gRT i 1 sniffefrrer SR (T, o1m.) & et afeieET T
L) FIE B) it enfafa
(C) TwER (D) TS Gitea 3 farsgwor
(B) rguiass
135 'Who amongst the following Indians has been recently selected for the ‘Goldman Environmental Prize 20247
(A)  Tulsi Gowda (B) Rajendra Singh
(C) Ramesh Agrawal (D) Alok Shukla
(E)  Question not attempted
T & 3 e 1 2 o st vt = i e greR 2024° RGBT R
(A) e ®) T=fEE
(C) Y ImET (D) STk Yl
(E) oERasd
136 If ‘m’ is proportional to ‘n’ and m = 5 when n = 4, then what is the value of m when n = 20?
afe ‘m’ ¥ ‘n’ m@mﬁmﬂ’r@ m=>5 SEfh n=4 'E?f, S n=20‘e?raama;m§rw€mr?
(A) 25 ' (B) 20
(& 28 (D) 225
(E)  Question not attempted / Eﬂiﬁflﬁ oa
137 The length of a cold storage is double its breadth. Its height is 3m. The area of its four walls (including the doors) is
108 m2, Find its volume.
e it rere 2t g et wiverd & T B S Sed 3m 1 ekt W e (@it w2 wnfiver ) @ S
108 m? &1 g8kt S i hif)
(4)  125m’ B)  256m?
L) 216m? D) 225m?
(E)  Question not attempted / T war
AIST 5 28 [P.T.0:
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138 Fefofas for wsdt & ot afer @2

a, qa= b. w0
c. g d. ferdmom
c,
qﬁ%ﬁqwﬁm’rﬁ%wﬁammwgﬁ
B FEdaie (B) Facie 3N a
(C) Fada3Nb (D) Faercaid
(B) rgaiaws :

139  Diesel engine converts energy from - (Choose the most appropriate option from below)

(A)  Electric energy to sound energy (B)  Nuclear energy to electric energy
(C)  Chemical energy to mechanical energy (D)  Chemical energy to electric energy
(E)  Question not attempted

SERESC) qﬁaﬁam%l(ﬁmﬁ%mmﬁmaﬁ)

/('A) Toifogesh Sell § O15S St B) e it & seifags St

(C)  Fftrrer ot & ahieret ot - (D) ¥t a ofes st

(B) SAgaiawx

140 Choose the most appropriate word from the given alternatives which bears the same relationship with the third word,
as the first two bear.

Mountain: Hill: :Tree: ?

(A) Forest (B) Rain

(C) Leaf - (D) Shrub

(E)  Question not attempted

= feg T fereredt & & vt 3 vkt o WWW%W%%%W%WWW@:
9o qgrs: :ﬁg:?

A S (B) =l
(C) udt (D) =feat
(E) Srui@us
141 The first Vice Chairman of NITI AYOG was
(A) Nandan Nilekani (B)  Arvind Panagariya
(C) Narendra Modi (D)  Arun Jaitley
(E) . Question not attempted
ifer ST % wom IqTerE H A2
(A) e facreoft 4B)  srfde wamfear
© e (D) Irvrsieeht
(B) ordfta u4

142 1y which of the following budget year, the Railway Budget was merged with the Union Budget?

Frfefaa & & fra sore g & tera @ asie 9 @ aste 7 wnfier o 2
(A) 2017-18 (B)  2018-19
(©) 2015-16 (D) 2016-17
(E)  Question not attempted / 3TN F
1 g & [P.T.O.
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443  The rate at which Reserve Bank of India lends money to commercial banks is called

(A) SLR ;‘;’ (B)  Repo Rate Q
(C) CRR ‘:. J (D) Reverse Repo Raf‘é"!
(E)  Question not gtt¢mpted Vj
orer 50 & e R s o e e e, 31 sy
A) T am (2 4B) WiE :5
© wWamam M D) fed¥ie
(B) orafaws o
(v) M
444 Chandoli was declaredas National Park in 2004 It is located in which Indian sta{c'l’
(A) Maharashtra '+ " (B) Haryana O
(C) West Bengal v (D) Meghalaya ::-3
(E)  Question not at@mpted f”?
2004ﬁazﬁzﬂaﬁm{hmﬁﬁaﬁﬁmwwlaaw%ﬁ?ﬁu—qﬂ%? g
(A) TR o B) wREmw L
(©) wRmame (D) e |
() ogRaws (V) f‘f}
&
445  Which state assembly p‘assed a bill to provide reservation in state government _jObS for SC, ST, OBC and EWS from
60% to 77%? ; ; ‘ 64
(A) West Bengal i:j (B)  Andhra Pradesh f:)
(C) Kerala i} (D)  Jharkhand hﬁ%

L

(E) Question not é't't'émpted

mmﬁmﬁmmﬁmﬁmm T, ol o &Y, s, i qa ATV T 60% & TGTHL 77%
mamﬁmmﬁé_@w

&.‘)

(A) utEm s o (B) AUIRW f:
©) - D) wEe 1
(E) oraf@ss () . ‘:
£ ,)

i
146 Which of the follow&xg articles empowers the parliament to legislate on any matter enumerated in the state list in the

national interest, if the resolution is passed by the Rajya Sabha with a 2/3 majority of members present in the house

and voting? (Choose‘lp? most appropriate option from below) u .g
(A) Aricle312 (B)  Article 360 k‘f%
(C) Aricle54 (4] ' (D) Ariclo249 Y
(E)  Question not attémpted ™

$

ﬁ”ﬁﬁ?ﬁﬁﬁﬁﬁwmﬁmﬁﬁmﬂﬁﬁmﬁaw%ﬂt{mémwmﬁwmﬁm% af
Wwwmmﬂwﬁ»mmﬁﬁ SMCHARTT % 2/3 sgere 3 wer i R 1 (R 3 2wy 39 foeRe

?ﬁ') ¥ : ¥ 3
(A) =T 312 AB) ST 360

©  org=da 54 (D)  37ed% 249

(B) rgufaus

AIS] o5 30 [ P.T.O:
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147 Which of the following statements is not correct about the Gondwana Coal?
(A) Itis mainly peat and lignitc type of coal.
(B) Raniganj, Jharia, Tata Pani and Himgiri arc somce of the important coal mines of Gondwana formation.
(C) The Gondwana coal belong to the carboniferous period, '
(D) Itis found in Damodar, Mahanadi, Godavari and Narmada vallcy.
(E)  Question not attempted
ST I & TR A et 8§ F 0 a1 et w0t 7} 27
(A) TR EEd: diz 3R forge wehr o e 1 , ,
AB) T, e, 2rerarht i fenfd, wiieam w6 5w werer i # _
(C) TSI FRISAT iR et & weiftr 21 A '
(D)  T® IS, FETHY, Tiererdt afte Ttar v 3 grart s )
(E) STgaiaws " >

148  Kattha is extracted from the inner wood of which tree?

(A) Khair tree (B) Mulberry tree
(©)  Kultree o f g s YD) Kustmree
(E)  Question not attempted
mﬁ#%wﬁmﬁmmgﬂ%mw%‘?

LA &g Y ¢ ®) WS
©) FaFm . (D) FgalS

(E) safaya VU B

149 Which of the following rivers is the la'rgest-tributary of Indus river?
(A)  The Chenab (B)  The Jhelum
(C)  The Satlyj » \ (D)  The Beas
(E)  Question not attempted

Feteg 1 o1 Tt Tt wET 7 (greegedh) R 2

D
(A) == (B) Fewm
4£)  wAgH 5 D) =™
(E) qafEydg ; " i .
150 Where is the famous Sikh Shrine ‘Hemkund Sahib’ located?
(A)  Sikkim Himalayas (B)  Zanskar Himalayas
(C)  Garhwal Himalayas (D) " Kumaon Himalayas : L !
(E)  Question not attempted
st fira TegTa ende wifeer @l fuaa 82
(A) fafeern femea (B)  Siiwa fever ,
(€) TgaT fewrer (D) gwrds fewrery |
| (B) i@ ua ) P
AlS] g 31 ' [P.T.O.
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